BoE IR E
Sy D B R
No. | Basapshs | 73R | 7@ 8| F-» |u|%EER TG i?iiB
1 845 |HK&| 100mH |&raL—=ss| 1 845 7:30 xxt FHi#
2| 855 [fA8| 110mH |srav—zxs| 1 855 7:30 o e NH &=
3| 910 [#%B| 3000m SR 1 9110 7:30 A & AN X
4| 920 |z 200m CEINVE S G 9:20 7:30 AINE #35E | ARE 2B
5| 930 |[HK®E| 200m |#roL-z#l 3 | 9:30 7:30 b IR
6| 945 [Hxz| 800m SRES 1 9145 8:00 =H BE
7| 950 |2z| 800m SR 1 950 8:00 ek D7E
8| 965 |[1xZ| 800m SR 1 955 8:00 XfEH EE | L #EE
9 | 1005 | 2% 100m S1nL-2l 3 | 1005 815 INE NEH IAIE
10| 10110 | 28 100m |#roL-z| 3 | 1010 815 I HF AFFH BEiD
11| 1015 |{& 100m SenL—-2m5 3 | 10115 815 XRU| FEE Xtk
12| 1020 |HK= 100m |9rov—zzi| 3 | 1020 815 IRE B B Bk
13| 1025 | 1% 100m S4nL-2 3 | 1025 815 INE S5 BEH BEE
14| 1030 |18 100m |91oL-zms| 3 | 10:30 815 M B
15| 1045 |[R&| 80mH |5rav—=mis| 2 | 1045 8:30 Ny
16| 1055 (KB | 1 OOmH |9 av—zxes| 2 | 1055 8:30 b IKIE
17| 11110 [K8| 400m |9rov—z#i| 3 | 11:10 9:30 i G #r BE
18| 1120 & | 1 500m R 1 11:20 9:45 ek g D FEREHR
19| 1130 (18| 1500m SR 1 | 11:30 955 i X aK ER
20| 11140 28| 1 500m SRES 1| 1140 | 1005 INA BE HEF &
21| 1180 (%] 1 500m SR 1] 1180 | 1015 WA & HHE B
22| 1200 |i&Z|4X100mR [#rav—2xe| 2 | 12100 f&H - V- B - N
23| 1210 | B8 |4X100mR|51av—zx| 2 | 1210 |4 ADE M-/ - 15875 - HEF
24| 1220 |H% |4X100mR [#rav—=x| 2 | 1220 ?3& N 1TRANY Y X =152 K o)
25| 1230 B |4X100mR [#rav—=xe| 2 | 1230 i3-Sk -/ V\E - 27
2 1 - BB O’
Bk B2 5 53
o st R | 58 B | 3eon | Am| BEEE7IEEL g
1| 900 |H% ESBk SRES 12| 820 7:30 X{EH BE | XN FE
2| 900 |H®| FEISHE SR 19| 820 730 | XIRH BHE | L£R K
3| 11:00 |HKS ESBk SRES 13| 1020 9:20 B B | XHHE S
4 | 11:00 |HK% ENSBk SRES 17| 1020 9:20 Rl FEE ! R
B T T W O®
o st R | 58 B | 3on | am| BEESVEEL i
1| 900 |HK&| MEAE SRS 20| 820 7:30 P EIE KB HE
2| 1030 |HK®| BEAE RS 20| 950 850 EH B5h BH H&

@O e

XENDAERERE, 2BBOBENER O TNET,

AHOEREPRIOBERIMMED o126, TICROEEDIBSE QEfﬁz ’jjé
BEOMED OS5, FICHMM@SE. PNEEDECSICREICTICE




